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Choose the best answer.Cutting overwriting and use of inkremover is not allowed
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The Quadratic formula is:

a)x: 2a 2a Za
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If O, 3 are the roots of the equation
2x’-3x-5=0 then Q, B is:
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The nature of roots of equation ax’ +bx+c=0 <=----—--~ A fi L”’J U udax +bX+C:0;;";t:
is determined by ............ S
a)Sum of roots b)Product of roots a)< ,f' KJJ Yy b)_._, /J’" b6 5
¢)Synthetic division d)Discriminant L)f" & Dol 3
The third proportional of x and y is - h./l::!ﬁ‘.?gygﬂlxg 4
a)y—; b)xy’ d) . b)xy
X
4 5
y % 2
c) e d)x4 C) o d)y4

In a ratio ab, a is called:

b)antecedent
d) None ofithes¢

a)relation a)L;

c)consequent S
(x+3)'=x"+6x+9 is

a) a linear equation  b).anlequation

a) = bla@uf

c)an identity d)'fione of these Sy Wt
A set with no element is called: .
a)Subset b)Empty set Derd
c)Singleton set d) Super set c)&:l:g

The different number of ways to describe a set

are -
a)l b)2 a)l
c)3 d)4 c)3

A grouped frequency table 1s called:

a)Data b)Frequency distribution a)s/#*
¢)Frequency polygon d) None of these Y- AP
3n :
B} radian =.................
a)30’ b)135" )30’
¢)180" d)270’ c)180"
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11 The portion of a circle between two radii and _;‘-_,L;‘ﬁu"l/;;Luylyguglgf.,gl}?,ﬁgg.}l;._gl L

an arc 1s called: _‘-‘_nl,‘f
a)Sector b)Segment a)}'--p b) £
¢)Chord d)Diameter c)rs d) £

12 In the adjacent figure of the circle, the line Q _.:"_t‘lgL;Q/PTQufy.Vt 12

PTQisnamedas Q

P
P
a)An arc b)A chord ) L] b)ss (]
c) A tangent d) A secant DUl A BEEL
13 ’ I A RPN g AIRE
Ifa chord of a circle subtends a central angle of Ju ol 39— L:EO e bd;/ /’5?:/ i:f/lj
—-ld R ettt ¥ ad r /
60 , then length of the chord and radial segment SO SRR
are.............
& “ - ” .
a)Congruent b)InCongruent a)J 1 bJ
c¢)Paralell d)Perpendicular )i d)ssF
“ In the adjacent figure if m/3 = 75° then find f’w m#2 sl mLl o mL3= 75Q/’¢J{l "

mZ1 and mZ2 /r'l
/
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° ° 1o o 1o 1o __
3)375’3713 b)37,75° a)375,37; b) 37,75
c) 750,372 155 c) 750’3715 d) 75°%,75°
15 ... common tangent can be drawn for two é@jﬁjKJu'J}"/fiwfuay:L/u”” 15
touching circles: ‘Ut
a)2 b)3 a)2 b)3
c)4 d)s )4 d)s
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